CARMEL COLLEGE OF ARTS, SCIENCE & COMMERCE FOR WOMEN, 
SEMESTER END EXAMINATION, OCTOBER 2018 
Semester: I of B.Com                 Subject: Commercial Arithmetic – I
Total marks: 80                              Date: 26/10/2018                        Duration: 2Hrs                               
Instructions : i)All questions are compulsory .
                      ii)Figures to the right indicate the maximum marks .
                    iii)Non programmable calculators are allowed.

1. Attempt the following :                                                                     ( 4x5 = 20 Mks)
   A)    Construct the truth table for .
        B)     Divide Rs. 2,708between Neha and Sneha , so that Neha’s share at the end of    
                 fifth year is equal to Sneha’s share at the end of seventh year at the rate of  
                 8%p.a.                                                                              
C)    Evaluate .

D)     How many ways can the letters of the word “ KEYBOARD ” be arranged so 
         as to begin with a vowel and end with a consonant?

OR

I. Attempt the following :                                                                     ( 4x5 = 20 Mks)

W)   Check whether the following statement is Tautology or not
                  )

X)   Find the compound interest on Rs. 2,500 in  years at 4% p.a compounded
        annually and also find the amount.

Y)   There are 7 boys and 4 girls. Find the number of ways in which a committee
        of 6 can be formed from these, if the committee is to include atleast 3 girls.

Z)    Solve by using Cramer’s Rule :
            .


2. Attempt the following :                                                                       (4x5 = 20 Mks)

A)     Find the value of n if 4 + 7 + 10+ …upto n terms is 175.

B)   Find the value of  ( i )                   ( ii ) 

C)   If  A =  { 2 , 5 } , B = { 2 , 3 } , C = { 3 , 4 , 5 } , verify that


D)   A person received Rs. 8,240 as maturity amount at the end of 2 years on his 
[bookmark: _GoBack]   annuity, the period of payment being end of each year . Find the size of his 
   yearly installment if the rate of interest was 6% compounded on yearly basis.

OR

II. Attempt the following :                                                                (4x5 = 20 Mks)   

W)   Find 3 numbers in G.P. such that their sum is 38 and their product is 1728.

 X)   An organisation anticipated a capital expenditure  of Rs. 2,50,000 for a new 
        equipment in 5 years. How much should be deposited annually in a sinking fund
        carrying  12 % p.a. interest being compounded yearly to provide for a purchase.

Y)    9 cards are selected from a pack of  cards. How many such selections will  
        contain exactly 3 diamonds and 2 clubs.

Z)    Out of 200 students appearing for a test , 140 passed in Mathematics and 100  
        passed in  Economics . If 50 of them failed in both subjects , find the number of 
        students who have passed in both by using Venn Diagram .

       
3. Attempt the following :                                                                    ( 4x5 = 20 Mks )
A)   A committee of 3 is to be formed from 4 Mathematicians and 6 Statisticians.
   In how many ways this can be done if the committee contains 
  ( i )   Exactly 1 Mathematician
  ( ii )  At least 2 Mathematicians.

B)   A person is repaying his debt in 9 monthly installments, which form a G.P.
   If his 4th installment is 540 and his 7th installment is 14580, find the total  
   amount paid by him in the entire period of 9 months.

C)  Reena and Riya invest Rs. 8,500 and Rs. 6,000 for purchasing 2 types of shares. The number of shares of each type acquired by them is listed in the following 
 table. Find the price of each type of shares. 

	
	

	
	Type I
	Type II

	Reena
	40
	30

	Riya
	30
	20



            D)  For  an A.P. if a = 5 and  , then find n and  . 
OR

III. Attempt the following :                                                              ( 4x5 = 20 Mks )

W)   A 5 digit number is to be formed using the digits from 0 to 9 .  How many such 
        numbers can be formed if the repetition of the digit is 
              ( i )   allowed                         ( ii )  not allowed 
X)    A person invest Rs. 10,000 in the first month and increases his installment by
         Rs. 1,000 in every subsequent month. What will be his total investment at the 
         end of 2 years?
         Y)    Find x and y if      =  .
         Z)   For the A.P. 1 , 3, 5, 7, …, find  . Also calculate .


4.   Attempt the following :                                                                      (4x5 = 20 Mks)
A)   A person want to invest Rs. 14,560 in 6 installments. If each of his investment 
  is 3 times the previous one, find out first and last installment.
B)   In what time will interest on the sum of money be  th of the amount at 10%
   Simple interest?
C)   Find the present value of Rs. 35,730.48 to be paid in 3 years from now with the 
   rate of compounding at 6% per year.
D)    If  , find X if A + 3B – X = 0 .

OR

IV. Attempt the following :                                                              ( 4x5 = 20Mks)
W)   If   , find X such that AX = B .
X)   The nth term of a G.P. with a = 6 , r = 7 is 14406. Find n and Sn . 
Y)   Calculate simple interest on Rs.1,268 for 219 days at the rate of 6p.a.
Z)   Find the compound interest on Rs. 1,200 at 8% annually for 2 years if interest is 
         calculated quarterly.
*************
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